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(I) Vocabulary Test: Please choose the word that best completes the sentence.

1. Windows and Apple are in the computer software industry.
(A)commenters (B) compensators (C) compatriots (D) competitors

2. If I do not like the clothes I bought at the store, I can take it back to the store, and the store will
have to give me a of my money.
(A)refill (B) refund (C) reject (D) reimbursement

3. Simon had a very experience that he will remember for the rest of his life when he got to
talk with the President face-to-face.
(A)memory (B) memorandum (C) memorial (D) memorable

4. Some research reports that drinking green tea makes you live longer, but it is hard to
prove that in real life.
(A)allocate (B) motion (C) claim (D) description

5.When I get a parking ticket, it means that I violated the parking at the place where I
parked my car.
(A)space (B) ordinance (C) opportunities (D) obligations

6.Everyone should have a dream and try to it.
(A)accomplice (B) elevate (C) accomplish (D) aggravate

7. The of being tall is that your head might hit many things.
(A)discourage (B) discrimination (C) detriment (D) disclosure

8.The financial in 2008 caused many people to lose all their retirement money in the stock
market.
(A)curse (B) crisis (C) downfall (D) plight

9.Jack did not anything in his life, but he was not happy.
(A)lack (B) obtrude (C) objections (D) manage

10.Please the hot pot carefully. You do not want to burn yourself.
(A)injury (B) handle (C) elevate (D) conduct

11.Because John didn’t earn very much from his job, he with making sure there is enough
money for his family.
(A)poverty (B) perished (C) angry (D) agonized

12.The minimum wage in the United States is so low that usually you need to have more than one job
in order to ;
(A)make meeting (B) making ends (C) make meets end (D) make ends meet

13.The police stopped a car because it was going over the speed limit and looked very
(A)suspect (B) suspicious (C) suspenseful (D) subjective

14.Joan’s wish was to go to Paris since she was a little girl, and it was on her
honeymoon.
(A)rejected (B) fulfilled (C) tarnished (D) investigated
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15.Cara had close friends throughout school, and these friends were all influences in her
life.

(A) positive (B) closeness (C) general (D) monitored
(II) Cloze Test: Please select the most appropriate item to complete the sentences.

Passage I.

I never had an easy time 16. . My mother got sick and had to go to the hospital a lot. My
father had to work and care for four children. I was the oldest of all kids, so I had to 17. of all
my siblings. My father lost his job when I was in sixth grade, so I 18. work when I was in
middle school. I enjoyed earning money, and I quickly lost interest in school. Why go to school when
I could be earning money doing odd jobs 19. for other people? It was only later in my life
that I realized how important a good education is.

16. (A) grow up (B) growing up (C) growing uping (D) grow uping
17. (A) take care (B) took care (C) give care (D) gave care

18. (A) starting to (B) had been started (C) being started (D) started to
19. (A) here and there (B) there (C) theirs (D) here

Passage II.

The people’s right to property is guaranteed by Article 15 of the Constitution. Although the State
may, according to law, 20. the people’s property for public use or other objects of public
interest, it should forthwith provide reasonable, and comparable 21. , So that it
complies with the legislative 22. of the constitutional guarantee of their rights of property.

20. (A) taken (B) domain (C) expropriate (D) conceal
21. (A) comparison (B) award (C) consideration (D) compensation
22. (A) intentional (B) intent (C) original (D) origin

Passage III.

According to The Code of 23. Procedure stipulates in Article 376: “Once judged by the
court of second instance, cases involving the following offenses are not 24. to the court of
third instance: 1. Offenses witha 25. punishment of no more than three years

imprisonment, detention, or a fine only.”

23. (A) Crime (B) Criminal (C) Criminality (D) Commercial
24. (A) appealable (B) appeal (C) appellate (D) appellee
25. (A) major (B) much (C) most (D) maximum

26 In the continental legal system, the law is formed by the .
(A) parliament (B) government (C) judges (D) prosecutors

27 The Code defines certain crimes and punishments.
(A) Sentence (B) Crime (C) Penal (D) Offense

28 Which of the following is the correct statement of law in relation to the burden of proof in
criminal and civil cases?

(A) In criminal cases, the burden of proof is on the defense. In civil cases, the burden of proof is on
the claimant.

(B) In criminal cases, the burden of proof is on the prosecution. In civil cases, the burden of proof is
on the claimant.

(C) In criminal cases, the burden of proof is on the prosecution. In civil cases, the burden of proof is
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on the defense.
(D) In both criminal and civil cases, the burden of proofis on the defense.

29 is the crime which is punished by prison sentence.
(A) Theft (B) Offence (C) Infraction (D) Felony

30 What is the difference between private law and public law?

(A) Private law refers to the relationship between individual citizens. Public law refers to the
relationship between individual citizens and the state.

(B) Public law refers to the relationship between individual citizens. Private law refers to the
relationship between individual citizens and the state.

(C) Private law relates to crimes committed inside the home. Public law relates to crimes committed
in public places.

(D) Private law relates to court hearings conducted in private. Public law relates to court hearings
conducted in public.

31 Under the terms of his Agreement the Tenant shall the Property on the termination date
stipulated hereunder.
(A) evacuate (B) empty (C) vacate (D) give up

32 Which of the following accurately reflects the distinction between substantive and procedural
law?

(A) Substantive law reflects the rules on procedure and evidence. Procedural law reflects the
elements or conditions for the law to apply.

(B) Procedural law reflects the rules on procedure and evidence. Substantive law reflects the
elements or conditions for the law to apply.

(C) Substantive law and procedural law are synonymous.

(D) None of the options given are correct.

33 In a company structure there is a legal between the business and its owners.
(A) severability (B) severance (C) split (D) separation

34 Sarah Smith was unable to attend the meeting and so a proxy to vote on her behalf.
(A) took (B) elected (C) deployed (D) appointed

35 Mr. Jones applied to a loan of NT$1,000,000, as he had insufficient money to pay his tax
demand.
(A) take out (B) borrow (C) have (D) use

36 In a limited liability partnership the liability of a partner is usually limited to the amount of his or
her capital
(A) charge (B) investment (C) contribution (D) donation

37 Which of the following is the most accurate description of civil law?

(A) Civil law is an aspect of public law.

(B) Civil law relates to controlling conduct or wrong-doing of which it disapproves.

(C) Civil law relates to the enforcement of particular forms of behaviour.

(D) Civil law is a form of private law and involves the relationships between individuals.

38 Broadly speaking, any confidential business information which provides an enterprise a
competitive edge may be considered a
(A) competitive enterprise
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(B) unauthorized user

(C) breach of contract
(D) trade secret

39 Amelia Hunter has been declared bankrupt by the court and has had to from his position as
company director.
(A) quit (B) depart (C) resign (D) leave

40 Miya Hopkins the offer she had made to purchase Darren Lake’s car before he accepted it
as she had changed her mind about buying it.
(A) revoked (B) cancelled (C) renounced (D) annulled

2

41 A(n) 1s operated by partners who share profits and are liable for losses.
(A) partnership (B) corporation (C) institution (D) association

42 Allison Clarks is suing her employer on the grounds of age ;
(A) bias (B) discrimination (C) prejudice (D) intolerance

43 When there is a claim for negligence one of the considerations is whether the harm caused to the
claimant by the acts or omissions of the defendant was reasonably
(A) anticipated (B) predictable (C) expected (D) foreseeable

44 Because she failed to deliver the goods on the agreed date the other party to the contract is suing
her for of contract.
(A) failure (B) infringement (C) breach (D) violation

45 Which of the following is the MOST accurate description of arbitration?

(A) An informal meeting between the parties involving a discussion as to how the issue may be
resolved

(B) An adjudicative process where the parties submit their dispute, for a binding decision, to an
impartial tribunal

(C) A meeting between the parties where an impartial third party facilitates discussions

(D) None of the options given is correct

46 The relationship between a parent and a child is created by birth or .
(A) undertaking (B) absorption (C) adoption (D) assumption

47 If a person who is already married remarries, it is called
(A) fraud (B) bigamy (C) incest (D) cheat

48 The company is primarily regulated by its articles of 4
(A) members (B) meeting (C) association (D) minutes

49 The registered capital of the company may be paid in or in kind.
(A) cash (B) notes (C) funds (D) coins

50 The for the job consists of the base salary plus incentive payments.
(A) consideration (B) compensation (C) indemnification (D) indemnity




